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¥ Choose the answer that best completes the sentence(s). (1~3)

L. In the first half of this century, many books, such as Lady Chatterley’s Lover
by D. H. Lawrence and Ulysses by James Joyce, were in the
United States so that they couldn't be sold in bookstores.

D upheld @ read ® purchased
@ banned ® renowned

[51A4]

ol A7l Adt7]of], @& AEL / o E 5o D. H. Zdxo] o3t Afdz] Flo A} Adx =
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couldn't be sold in bookstoresE 3 were tgol (-) y&o] Eozttta #usit), O
uphold WWrET} A A s}lck(support) @ purchase 793t @ ban & X &K prohibit, forbid) &
renowned 3%, WA =(knowne] WH)
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With similar programs now widely available

consumer versions, just about anyone with

in

inexpensive,

easy—to-use

computer skills can

cut, paste, erase, combine and retouch photographs.

@ solitary
@ sedentary

g

@ complimentary

® rudimentary

ol FhsE AWMA/ BAL AL

@ snobbish

A anAg o=/ Ao Gust




about =very nearly) @ Algholg}x/ (-)3F AFE IS 25/ A=21, o, A1, Agahy,
TAL 7 A A ES//

[51A4]

anyone< “FEtE'E SStEE U T el WY Akl F5ETh ole wojES Al
sta, w2 A Foll ‘R0 s Bol= AS nLET

[o17]

@ solitary %3 @ complimentary Az, ZHASItha FE 2 F=(compliment I ©
snobbish £&9](snob £&) @ sedentary =2 olA] A&sli=(sed; sit) @ rudimentary 7]¥-2],
ZH A l(=basic, elementary, ‘rude F#, crude 7}E=HA F2’ T3 AH)

[HE]l ®

3. The hypothesis may explain why college graduates appear less
to memory loss than people with only an elementary school education:
Learning strengthens the brain.
@ vulnerable @ vigilant @ indignant
@ pertinent (® unsusceptible
[5HAd]

2 7Md(hypothesis) AW & % AS Zolty/ o digh A5l 7199 Ao o @ FHeF
A E/ 2 WY e AgEHY/ S S5 FEE AsA7E Aot/
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¥ Choose the answer that is closest in meaning to the underlined word.
(4~5)

To meet the demands of massive meat consumption, newer and more
efficient methods for mass killing of cattle were devised throughout the

industrialized world.




D prevented @ devoted ® contrived
@ contracted ® departed

@ prevent 9}, Wt @ devote (28 &) vRx|th, SASHV sth to sth) @ contract 7l
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o. As soon as the board of elections promulgate the list of candidates, a ballot

1s prepared.

@ critically review @ quickly contact @ informally discuss
@ legally accredit ® officially declare

[5H A1)

AAYE 7 FRAE] dats FEFWIAEAL, FE/F FH)E a9k

[51A]
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¥ Choose the answer that best completes the sentence(s). (6~8)

6.
I am acutely aware of the burdens drug enforcement
@ places upon us @ place upon @ we are placed with
@ placing upon (® that we place
[51Ad]

e dlgsiAl dAskar v/ 2 Fwel dhell/ olek(H)e] Al#(enforcement)o] §-lellAl F-4s}

=.//

[51A4]

be aware of2] H24o{7} the burdenso|t}. burdens?] ‘s'+= WAFEZF E%the #A]o|th upEhA
drug enforcement %ol 235 da1, drugH-El7} burdensE AWl &Aool a o Abs) okt
HANEAZE A Zom Kol H2424 AANHAZE AgfE A o]il, drug enforcements ¥ -&A}
Ao Fojoltt, ‘Aldl’e] ‘FH(burdens) & 8 fol F& AHAe|EZE, “drug enforcement places
burdens upon us”9| A burdensE TAINHALZ 42 FEHEHAS b=th

("]l ©

7. The failure of Exxon Oil Company in the 1980s in large part to

high salaries paid to executives.

@ was due with @ was due @ was
@ had been ® has been
[o172]
in large part F-&2, F==Z(largely) due to sth ~u&ol
(CIES)|
A& HF3ate] A/ 19803/ AR E w2 deel 7IE Roluy AFHAEANA AFH.//
[51A]

3t} ‘in the 1980s'Z Ho} AlAlE= Iprojok 3t} duer 7]3F

0 the failureoﬂ 3t EAl7F o
11 owing to¢} &7 due to sthe] Fejz ‘~ujiol|'S =3t}

8. J. Robert Oppenheimer, who was perhaps the most brilliant nuclear physicist
in the 20th century, “the father of the atomic bomb.”

D often referring as @ often refers as @ is often referred to

@ is often referred as ® is often referred to as

(31 4]
J. ZHE edstoln=/ 7k AR B gAi|l/ 2041719,/ &8 dAAA I YT/ A e

oFHAI"E.//
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‘refer to A as B'&= ‘AE Asltl/ BE'E 523t} o] 848 F5HE 3

o Fi, FAS] refer tog FEHE vtk ‘AE Asltl BE'E FEHE oY, ‘A
BE'7} €ttt FEHe Foleh FAE Aol Atolo] Wslo]|nR as o]ate] HAHolE= W)
g2y ok

[HE] ©®

9. Choose the sentence which is not grammatically correct.
@ Practically all of the water comes from the Pacific ocean.
@ The guest should come back until 7 p.m.
@ The organization strives for better health throughout the world.
@ An inability to control impulses is at the root of the problem.

(® Given a choice, I would probably opt for toys that encourage creativity.

O AHEY BE &2 HEde=zT Y veoa 3l
; ‘all of Al HAY] = AA A gtETh OH‘E] AE-E w3t = B2 950l m 2 comes
7} st}
@z ’\‘éﬁ Q5 TAA = FZofetol gt
;% TA Aol ol wiEtx i Folo W Huh= ojolr|o|lmz, ‘¢ o] 7MA'E EE byE
Aokttt until> 1 AZEA] Al Std F2S W SEAY X &ekal ook Ao A
eg) I have to submit my report BY Friday, so I'll stay at the library until 10 tonight.
Tkek 1 FoF, 12€714 1009+ & Wokstt= ¢S shobd,
I have to pay 1 million won by December/ until December. &= 43| t}& W&o] ¥t} by
ST d "o ZHola, untilS 10074 1293 Wofdiths Zo| =,
@ 1 WA= Brh U2 7S fls Fals] wEEy AlAl d ool AL/
; strive (~& 93l) =#altHfor)+ struggle® w7FA 2 AbsAle]al, AX|A}F for stholvt toit
ArE AZ =2 ZH=th A seekS ~S et ElE 29 ElsAlold)
@ F55 FAT F gk Bo] 1 FA9] Helo] It deolth.
; (inability= ‘~& (F)e e’ olgtal AztE o] B toF-AALE 2 gt
© Adedo] FojXvhd, v= ofuf Fod S HeEw ks A9 slojr
; If T were given a choiceoll A if I wereE AEF3 FElo|t} given sth ‘~o] FoZThA, ~

rir

S 18 g on|E ofF &3] oA AbHel| HAAA AR EE 5 Aot opt
= AFALE for stholy to VE AZ & zh=t}
[HE] @ (until — by)

10. Choose the underlined part which is not grammatically correct.

The data, @ which have been submitted @ for publication in @ the
Astrophysical Journal, also @ confirms that the universe is not & what it seems

to human senses.

(31 4]
I ARE/ = AAE Al AEsel/ A Adel/ w3 dlE 5= 13k 27
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¥ Read the following passage and answer the question that follows.

Then the authorities should come up with measures to make up for problems in
the current quarantine mechanism. Suggestions include the integration of
government agencies that deal with quarantine inspection. Currently, the
Agriculture-Forestry Ministry controls the business of inspecting dairy products,
the Health—-Welfare Ministry agricultural goods and the Maritime Affairs—Fisheries

Ministry fishery products. Maintenance of this complicated system will not be

helpful in securing an efficient and coherent quarantine system.

11. Which of the following is suggested in the passage?
@D Dividing up the quarantine mechanism
@ Maintaining the present system
@ Giving up the quarantine system
@ Controlling Ministries more strictly

(® Integrating quarantine inspection agencies

[5HAd]
I Yg(adv) F2(S) 2AES(0) AZs] ok e (V come up with)/ B/H(E BT 5 7] $1s
(adv)/ AAel A A A (quarantine)ol]| 2] 4|4 S.//measures...quarantine HHES ¢33 2AE

g
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¥ Read the following passage and answer the question that follows.

The pollution of the earth’s soil and water has become an issue of great
concern. Until recently, most of that concern has focused on the land portion of
the planet, where pollution directly affects people in their daily lives. Now,
however, we have begun to realize that marine pollution is equally important.
According to Samuel Newlyn, marine pollution is the condition that results when
people introduce into the seas substances harmful to life, health, resources,
activities, or comforts. Marine pollution is far from new. For over a million years
people have thought of the sea as a convenient place to throw their garbage.
And it is true that the sea has a great capacity for absorbing organic wastes.
But, as civilization grew, more and different pollutants were dumped into the
seas. Especially in some coastal areas near large cities, ocean pollution began to
threaten marine and human life. The oceans began to fail in their ability to
recycle humanity's waste. Nowadays it is clear that marine pollution is a threat
not only to marine life but to human life as well.

12. Which of the following is the main topic of the passage?
D The pollution of the earth’'s soil and water
@ The definition of marine pollution
@ The history of marine resources
@ Marine pollution and its threat

(® Large cities and marine pollution

[51A4]
Aol B =9 2929 2 AAE dovle ZAVHO ol fh(V).// pollution...soil and
water EG x99 0. HI7MA(adv), 1 DE ] FE2(S) L AP &H F-Ee(adv)
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¥ Read the following passage and answer the question that follows.

An inmate at Elmwood Correctional Facility should have planned his escape route
a little more carefully. Arnold Ancheta, 25, broke out of a medium-security dorm
only to hop the wrong fence and end up next door at the women's jail.
According to Mark Cursi, a Department of Corrections spokesman, Ancheta
apparently escaped by squeezing through the bar on the roof of his cell and
breaking out the Plexiglas—covered skylight. He jumped down about 20 feet from
the roof. However, instead of heading toward the fence that leads to a public
road, he jumped a smaller fence and ended up on the women's side of the

facility. Female inmates saw Ancheta running around the yard and told

correctional officers. He was taken to a hospital and then to a downtown jail.

13. Which of the following proverbs is most relevant to the content of the passage?
D Out of the frying pan and into the fire.
@ Once bitten, twice shy.
@ You make a mountain out of a molehill.
@ You've cried wolf too many times.

® Every cloud has a silver lining.

o]

$= XA (correctional facility WA g F7A(inmate)=(S) &+ W A Z=HA AF
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¥ Read the following passage and answer the questions that follow.
(14~15)

The idea of adult day care is being translated into reality more and more these
days. In the 1970s, there were only a few adult day—-care centers. But today
there are more than 2,300 such centers across America. These centers, which
are mostly run by nonprofit organizations, reflect efforts to keep elderly people
out of nursing home facilities and in their homes and communities for as long as
possible. Such efforts also reflect sociologists’ findings that segregating the
elderly creates a financial and moral burden that both families and society must

shoulder.

14. According to the passage, which of the following is stated or implied?
@D These days adult day-care centers are making a large profit.
@ The number of nursing home facilities has increased since the 1970s.
@ Adult day-care centers help elderly people live in their homes and
communities.
@ The idea of adult day care has not yet been put into practice.
(® Providing the elderly with day-care service creates burden on families

and society.

15. Choose the answer that i1s closest in meaning to the underlined word

segregating .
@ sanctioning @ setting apart 3 accommodating
@ taking care of (® antagonizing
[51Ad]
ERIFHR ST Jdel(S) dio] d Aoz AT JriV)/ 8F E9 AAH d(adv).// adult
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center..help) @ =17t S Ael= Ade] of7 A=A ¢ th(put into practice) ® =&
AA F REE AFsts Aol EAE doith [+ 14] @ sanction S17Fste}, [plural]l AA ©
accommodate <¥FA]7)tH(lodge, take in); AYE ERet}; H-$A17|vkE e (adjust, adapt) @
take care of EX.T}F (B antagonize stk
[8E] 14.® 15, @

¥ Read the following passage and answer the question that follows.

We have all gathered here tonight to pay tribute to Christine Arthur, who is
retiring after forty years of devoted service to R & S Publishing. She began as
a secretary, typing on a manual typewriter and taking shorthand. After five years
she was promoted to typesetting, where she remained for ten years until she
was hired as an acquisition editor, specializing in children’s literature. She has
excelled in this position for the last twenty-five years. What will R & S do
without her? We know Ms. Arthur has great plans for her next decade, which
include worldwide travel, gourmet cooking, and reading every bestseller she can
get her hands on. I am honored to call her forward to share with you her

recollections and thoughts at this emotional time.

16. What was Christine Arthur’s last position in R & S Publishing?
@ typesetter @ acquisition editor @ writer for children

@ Excel programmer & best seller producer

[51A4]
FEE=) EF EAFUHV)/ &89 olXdl(adv)/ AB =" ofA WA AHeE xst7](pay
tribute to sb) #l8ll(adv)/ ZE Al =(ad))/ 40@7He] XA FALE Foll(adv)/ R & S EFA}A
(adv).// retiring after forty service 407t &% Fo 2H3l= 7dA... 2UE(S) HAZ A &8
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He S HAFHUTHV)/ EfelZAg o2/ 3toX(adv) 1HE(S) 1093F MERASFHTHV)/
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¥ Read the following passage and answer the question that follows.

Near-earth asteroids have long been considered excellent candidates for
planetary missions for a number of different reasons. Asteroids represent a
“Rosetta Stone” for scientists as they are widely believed to be leftovers from
the formation of the solar system. Many believe that a close-up study of these
lumps of rock and metal could yield important clues about the processes that
formed the planets. Interest in asteroids spans a number of different fields.
These A astronomy, geology, or even biology. Many geologists, for
example, have found evidence that a massive asteroid impact killed off the
dinosaurs and dozens of other plant and animal species 65 million years ago. As

a class of objects, near—earth asteroids have orbits that lie relatively close to

earth. As a result, these objects are B to reach.

17. Which of the following best fits into A and B?

A B A B A B
@ include - firm @ exclude - easy @ represent _ difficult
@ include - easy ® exclude - easy

[5144]
AFAA 7Pk 2P E2(S) 2FEt AAA Fek(V)/ B AFE AT EFT FREZQ)
W gofst o]f= <lsl(adv).// near—earth asteroid...planetary mission X7 &% A E0] 3
d Ak 83 AR E(S) AR B AT “EAE E(UdEEEo] o|FEA g Fein=
rofl 221 28 ¢S F dAE T 'S0 WHESHEAE Eolut wpI A (V) Hukshd o]
2P ECS) ] EoA7] dZolth(V)/ A ® AEeleta(C)/ sEAL P =T E(adv)./
B2 AHES(S) BeEthV)/ A3 59 olgg dolgl(lump)E BAlE] ATshe 22(S) Tag
GAES0) AXE = 7 ATa(V)/ dES FAAD A5 i (adv).// B350 dgh
FAL(S) FEL o] EoFE0) oF¢-Et(span)(V).// ol AE2(S) EFIHV)/ A&, Ndg &
AAel AE8HS(0).// & Eolladv), B2 AAFAE2(S) TAS0) T, SFeHV)/dF =L
2o FEOS) FFEN T4 vE TAE TESO) HTAHG=W)/ 63 5Hnk A A
(adv).// dFo EAZA/ AT 23 AP E2(S) ?-H-LE(O) ZRA AL QEHV)/ A o2 A el
TWhE Stel wol de=(ad))/ ARA SR, olydt EAES Edetrle Ho.

(CIFS)

Adl= 23 ATe A FERES FHAE M F e SAME Mopgth AR, o 49
span®| involve®] ‘&¢lofo|tt. spand H* 77 delA obe-& ¢ e W
= ouelA ‘EFBIHE SEsHA | wojolth %*}i% 713}, & F& on|gt) Belle #1e
9] near—earth asteroidghe= AS 3] & =

[HE] @

F

r1r

_11_



¥ Read the following passage and answer the question that follows.

It seems that more of us will be telecommuting. [A] Some jobs clearly just can’t
be performed remotely; a hospital nurse, for example, won't ever be able to
work from home, while a hospital accountant could. [B] A report by the Reason
Foundation found that telecommuters outnumbered actual mass-—transit commuters
in 27 of the 50 largest U.S. metropolitan areas. [C] Two thirds of Fortune 1000
companies now have telecommuting programs, while 60 percent of companies
that don’t have such programs are considering the idea. [D] As wireless and
other telecommunications technologies become more sophisticated, the

advantages of at—home employment will only grow. [E] It absolutely is the wave

of the future.

18. Which of the following is the most appropriate location for the following

sentence?

Nonetheless, telecommuting could one day be the norm, not the exception.

D [A] @ [B] ® [C] @ [D] ® [E]
[a#44]
Folzl B2 A gold @ HZ e oloprlzt FAUA FA} FoANA Favel EAG
o,

<oz Esta, deAFYES> Gorm)e] € Foltl/ o7} ofyE>Ehe el A WAl &
agkr|E B2 telecommuting®|th &, 29 FA7} telecommuting©] 8= Aoltl. kx| vE T H-E 9]
LAY Eo] commutedts ©olxAl olg]$d AHolt), o] wl AASX]A] &l nonetheless¥} normoll

HAZFst &, telecommutinge] VA E&%, o] 29 FA= 13 °] normaldt Zel @ Ages, S
Aol FAeh= Aoty a28|a, o] #742 nonetheless® X}l telecommuting?] W3 oju} &3
thgoll Foof ghrh ‘"HHARE Y Gy 'S Tl T 25 A7) AFE

(CIES)

Ay HAt(V)/ B % 9852 AEEFE A 2 A=WV )// .more telecommuting

AT o] wold Zojtt.. [A] 01‘5 AE2(S) #
+(adv)(telecommuting®] 7ide] AWE. 5 AGZH); dF 5o, B4 FTAR=(S) FollA I
FE A9 §1& Aot/ 18y B AL & F J& Aot/ zAE & & gtk 3A
o] Yygerm=) [B] 1HddLE, ZHE—’.*ELE‘E(S) AA7E= Ael(C) 2 & Al de7t obd/ B
A'Z(Reason Foundatiom)dl] 9]¢k & B A =(S) LAPTHV)/ AGZTFAEC(S) A dFsis T
ZAke] FE0) AHT=(V) AL/ vi=e] 50t Al 79 T 27709 Aol (adv).// [C] EX
A A 10000 719 & 2/3=(S) dA AYZF TS Far dvk/ jHE 71959 60%7HS)/
a3k 2 o] gl=(ad))/ olelg ofe]tol&(0) aestar ATHV).// [ ] 74 2 Ve 4454
71=ol(S) S A= AR(C) whet,/ AEaLg-o] o]FECl(S) Eold el fls Zolth(V).// [E]
o] Z(S) AuH o2 n#e] EEITHC).//

[H=] @

o

FRL 5 gls Aolth(V)/ Hel "olAA

2

_12_



¥ Read the following passage and answer the questions that follow.
(19~20)

Belief in a supreme being does not always play the uplifting and civilizing role
that it has in the past. [A] Religion, though it has undoubtedly brought comfort
to innumerable human beings and stabilized society by its values, has checked
the tendency to change and progress inherent in human society. [B] As
knowledge advances, the domain of religion shrinks. The more we understand
life and nature, the less we look for supernatural causes. [C] Whatever we can
understand and control ceases to be a mystery. [D] Gradually they have passed

out of its control and become subjects for scientific study. [E]

19. Choose the answer that is closest in meaning to the underlined word checked.
@ increased @ investigated @ restrained

@ preserved ® sustained

20. Which of the following is the most appropriate location for the following

sentence?

The processes of agriculture, the food we eat, the clothes we wear and our
social relations were all at one time under the domain of religion and its§

high priests.

@ [A] @ [B] ® [C] @ [D] ® [E]

[51A4]

294 ZACGD dg DE2(9)/ (REAS) FdA7IH wshAel 9E5(0) I e A2 ofy
o (V)/ ZAol LW ¥ (adj).// belief in a supreme being...not uplifting...in the past A<} =&zl

FTae] A3 [A] FRE(S), BIFE 94l ofAglel(adv) ARME(0) 7HA (V) 48 AbgEol Al
(adv)/ AFEE(0) ZANT(V) X ex/ L 7HxdE 93,/ 52 BEFS(0) gAE Sk (V)/
Wsleln FBste =(ad))/ AFAE A WAE(ad))./ Bl A2el(S) TR gl weh(V),/ Fue] oY
2(S) FAEH(V).// B Bel —OFEVHS) a AAE0) olAEFE(V),/ o AA =) 2494
Ql ?i?lea(O) A fekV).// [C] $-&7HS) olald = (V) AT + A=(V) eolH HEA/
AR(FFANEC) Fol A 0}7ﬂ HAW).// w49 4, 7 He 24, 0 4 29 ¢
2] ¢] /\}Q HAE BF & de o 499 =2 AR (st At [D] AAE] 1
g AE2(S) SAE BlolvAl =/ 28ar 334 Ao tidel(C) | Aolth(V).// [E]

[51A]

199 check AA|sltl, A&ttt oA dch(=control. curb) restrain ¥FEU} preserve HEsIC}
sustain o] A8tk

2091 AA|Zol A FET 2 'all at once', & BT gt A Ae] g3 sholl Il 1 o] T
gso] et 3‘:1rL Fitolth oW 9% thol ‘Fae] okE7F e 1 gkatElel o] S F7I
2 gt} oAl A THE TAwithe 7] OJCE grolztm ¢17] Alzhgict,

A L Fue P £ ALS ofyrh FTues £ HE JA tﬂfﬂra ANk [B] %4
o] 5% Fue Y59t [C] o8 —’F 91 AL AM|7E oyt [D] aRAEL 1A BA B
o= Aviwgar #ste] fiide]l k. [D]

==
T

oA theyt its7} 7}3]7@ Hpi= ol
food, clothes, social relationg 7}2]7]aL, itsE religiond Edl2z, X7} A AT F3 Ad st

Al glojoksl= ove TAIQIT

r1r
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[HE] 19. @ 20, @

¥ Choose the answer that best completes the passage. (21~22)

21 Today, birth rates are dropping around the globe, and experts speak darkly
of depopulation. ? Contraception is more reliable and readily

available than ever. In the developed world, large numbers of women are
pursuing higher education and careers, delaying marriage and childbirth, and
having smaller families. Developed countries have also seen a major

migration from the farms to the cities. In urban areas, the high cost of

raising children provides economic incentive to keep family size down.

@O What is wrong with fewer people

(@ What is causing the decline

@ What are the implications of the decline
@ How quickly is the birth-rate declining
(® What should we do

(31 4]
o5, FEE(S) XA ATHV)/ A AAA R,/ 2 AEIFES(S) (/1979 HAACEE)
sl oA kil QATHV).// birth rate...darkly EAFEC] tidk o7& .. o3 ZEF A

o]
ol 3 e AL FAAZ? o= wjrrt 9 (contraception)®](S) TS A1 &wtatal(C) 2+ o]
& 7FstH(0).// ATl A, Be 4500 FuFH AY9S(0) F7stal AvhV),/ 2E%4
EWHEDS vFEA )/ 2eal H2 o] 7SS WA/ AARE(S) B UitE o]FS(0)

)

HoltHV)/ $EOZHEH EA R/ BA A QA =, olol5S 7]9-E(ad) =& F5HI7HS) A
A FAAE0) AFFeHV)/ 7S] FRE0) FAAZIAN) sh=(ad).//

[sHA]

A A FAHE digh ke dWel 29 FAgke= Aol #HEth 1 tE des
contraception, women's higher education and careers, migration to the cities, high cost of
raising children 59| W& ®F &3k o] ALt webA 3 &% ohgol ‘ol 19 A%
< SHAl W=7 ek Aio] deto gkt

el ©

22. Speciesism is a prejudice or attitude of bias in favor of the interests of
members of one's own species and against those of members of other
species. Speciesism is wrong for the same reason racism and sexism are
wrong — because all beings’ interests should count equally. This is often
called “the principle of equality.” All the arguments to prove human

cannot shatter this hard fact: in suffering, the animals are our

equals. For any individual who can suffer, the degree of suffering, not the

species of the sufferer is what should count.

_14_



@ superiority @ genetics @ nature
@ suffering ® cruelness

[51A4]

T AEEFD2(S) AdA == HA(bias)e] BIEoltHC)/ A7) AL F£F2o FAYES] o]
S AA st/ dE 59 FAYES aANE wEki=(ad))./ speciesism...bias ¥ BHAL 27| F
o ¥k Heljal= Ay Asfolth.. & WAL AxE Aoty °]57_<]'bﬂz°]‘/]r AP 2 e A
I ZE o2/ — dueld BE EAIES] ool & o] Fagh zlolojof s17] wio|tt// o] A
3] “HTo dFolgt B/ At 294 S THIE e EE FHEL/ v dde AME
S (shatter) 7 §th/ S 1T FoA, TEER 9 & 22 EXAEY// 15E =2 F 9
F(ad)) of" 7ol JAXNE,/ 11F] HETE AFS AT A Fol ofvg, F& Holojof g
=

[51A4]

ARbd oz 7kl 4% Zlo] ol FELE AR 115101‘3? b= W&ol #4
(arguments)S A= to FAHAIE Yook ]’t , o] + shatter® = fittal glom=z F3

2} O
o
2 ‘FAESE FHste Alolv mEkA ATt ¥ E THEEE T E 7|5E E¥(cannot
shatter)'gt= #2 gojof 3t}
[ ©

¥ Read the following passage and answer the questions that follow.
(23~24)

In 1972, the International Telecommunication Union decided that astronomical
time (based on the movements of the earth) could not differ from atomic time
(based on the cycles of an atom of the isotope cesium-133) by more than 0.9
second a year. Because the two systems are inherently out of A , it's
periodically necessary to add “leap second” to bring them into sync. Most people
didn’t notice, but one of those seconds was added after midnight on Dec. 31,
2005, just before 2006 began. “A leap second”’, says Jonathan Betts of the Royal

Observatory, “asks the atomic clocks to hold their breath for one second, so

that the earth can B .” So far, the compromise has worked.
23. Which of the following best fits into A ?
@D step @ competition @ practice
@ shape ® place
24. Which of the following best fits into B ?
@ stay still @ keep moving @ move slowly
@ go faster ® catch up
[51Ad]
197293, AA7FAAW S 22 W/ JEsHE AZR2(H T A4S 7dteg ) gE F
AoE AL/ 93 ARG 133 S9LL9 QAR Fo) 7123/ 1de 0.9% o)L/
astronomical time...atomic time...cannot differ H&2 A7tz Q42 A 7RAlole] = ofjvfsld
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of % 7hH AzEe Ao 2A 9] R, e F/H0 dast &
dahs Ao/ 2B FAAC RES ] AL/ W AREe FEeA @
10]

239 7 Alz=H 0.9% zbol7t Wtk S doF SRR, out of step (FE LFX| i) Ho=
Eia=3

249 A F7F AAARE eS¢ Ad=Folgkal sjof SRR, catch up (WEthE Ho= g
t}h stay still 7}9Fée] #F2th keep moving Al FF ot Al@GCA &S AIZF kel T}otsty)
o= 3ol wo] == FAU

[8E] 23. © 24. ®

¥ Read the following passage and answer the question that follows.

In May 1806, for three weeks a group of white Americans moved through the
state of Montana to survey the land. [A] They killed 167 animals, about eight a
day. [B] Reviewing their travels, one historian estimates that over a
twenty—eight months period they probably shot, to feed themselves, something
between five and ten thousand animals. [C] They just killed for the fun of it.
They killed grizzly bears, mountain lions, wolves, and buffalo. [D] They could
pick and choose what they wanted to kill because the western plains displayed a

richness of animal life that overwhelmed many travellers. [E]

25. Which of the following is the most appropriate location for the following

sentence?

But there was plenty of random slaughter besides this.

@ [A] @ [B] ® [C] @ [D] ® [E]

[51A4]

18061 5¢, 35 Fol Aol Wl wjHRlEe] BEPUFE /I2A Y olwstal ATy BE SHs]
$138.// 1806...white Americans...moved through W<lEo] nti&ES F&w 3 A... [A]
1679219 TEES(0) FAHV)/ s-Fel oF 8utgd.// [B] 159 A4S AHESEA, g A}
7FH=(S) FA s/ 287149 Y|ztel AA/ 25 olulE 5XolA 19k wlgle] Aleldl A "HILE 9%
S Aoz/ HE TAE Asr] 8/ sHAR ol A9 oJox FARAQ] EAbe] wtt) [C]

52 A AREY AME Sk 25 I, A ARREE, S5d 9 EAES Stk D] 2
52 123 A9 = AT AplEo] FoUE dIPE AS/ st AE HYe 5E o F
F3hs =eyly] dEelt/ B qaxES dxdd.// [E]

[51A]

AAES] ¥EQJE+= But, random slaughter, this o]t} o] HEL AA|Eo] AHHor AAF I,
4 9ol randomshA] 22 sHo] 1o, o] &% HelE random slaughter’} Y-2th= A 9]
=3

[HE] @



